RTR VEHICLES

g &

s
Y

= f
= (> ), N
= o
h = S
o g
(B =
= (®) ~— >
= & =
= =
£ % =
N g é
N By
<) =
= =3
=/
=

CONICAL

1. Place the Adapter Nuts into a soft jawed vice, conical
side up, and thread the M8 Studs into them. Using a T-
25 TORX® driver, torque the Studs to 20 Lb. Ft. Install
the Studs into al four of the Adapter nuts.

\

\

3. Thread the Adapter Nut with stud into the bolt hole
from step 2 hand tight.

2021-22 Ford Bronco

Accessory Adapter Kit
Part number 14025.0014.99.A
Component Identification

1. M8 Button Head Cap Screw 4
2. Adapter Nut 4
3. M8 Stud 4

NOTE: This kit is intended to allow for accessories to be
mounted to a vehicle equipped with OEM tailgate hing-
es. This kit is hardware only and does not include any

accessories.

2. With the tailgate closed, use a T-45 TORX® driver to
remove one hinge bolt from the tailgate.

4. Wrap the Adapter Nut with a protective layer of
painters tape or equivalent.




5. Using an adjustable wrench, snugged down onto the
wrapped Nut, tighten the Adapter Nut to approximate-
ly 30 Lb. Ft. If need be, the tape can be removed and
torque wrench with a 20 MM socket can be used.

T-40 TORX 20 FT. LBS

M8 x 1.25 x 16 BUTTON HEAD CAP SCREWS

7. With the Adapter Nuts installed, use the supplied
M8 x 1.25 x 16 Button Head Screws to secure the se-
lected accessory to the vehicle. Longer screws may be
required depending on the accessory.

REV.07.13.22

6. Repeat steps 2-5, one at a time for the three re-
maining hinge bolts in an alternating pattern. Remove
the tape when complete.

8. Completed install showing the RTR MOLLE Accessory
Plate on the OEM tailgate hinges using the Adapter Kit.

The RTR MOLLE Accessory Plate, PN 14021.0011.14.B
can be purchased separately at RTR Vehicles.com




